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BE1224) P< 0.001
B 12245 P < 0.001
7TERAIE L PiE
B E 1220 + nt BB 1224 P< 0.001
BE 12245 P< 0.011
wHEE 12245 P< 0004 *
8.l v— P{E
BB 12245+ B8 122{5) P< 0025 *
B 12245 P< 0.385
xtH8 12245 P< 0036
9.8 4%+ (ONSET) PfiE
BB B 12245 + %) B 1 22451 P< 0.060
12245 P< 0.187
*t BB 12245 P< 0.506
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V. ERRKEET

DA, @QEE5THLL, OFE 3HhFI)—ELOEMBR

1IE7 NI Z(3.0g/d)
BH 1220+ xf 88122451
EaE1224
BB 122451

2AESOEL (11.0g/d)
B H 12205+ 3388122451
BE12245
AR 12245

IHFBRPCE(ED)
BE 12240 4+ 348812245
BaE122{5
w1224

4 )5 #5 8 Mt [+ (100mmHg)
BE 1220+ x$8812245
BE12245)
w BB 12245

5.3 3k RA 1o IE (70mmHg)
BE 1224 + 8812245
B|E12245
W R 12245

6.{A i ZE
B 12245 4+ REB 12249
BE 1220
iR 12245

TERfNEE b
BB 12245+ 38R 12245
1224
*E8 1224

8.l w)—
B FE 1220 + B8 12245
BB 12205
BB 122{5

9. Hi$%F (ONSET)
SE 12245+ xR 12248
28 12245
812245

* HEXHY
PfE
P< 0.249
P< 0.103
P< 0437

PiE
P< 0.750
P< 0.326
P< 0.778

Piif
P< 0001 *
P< 0.001
P< 0.001

Pl
P< 0.982
P< 0647
P< 0.659

Piili
P< 0.508
P< 0.469
P< 0.351

P
P< 0.001
P< 0.001
P< 0.001

P&
P< 0.001
P< 0.001
P< 0.001

PiE
P< 0001 *
P< 0.001
P < 0.001

P
P< 0.048
P< 0.996
P< 0006 #*
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VARG
DEE. OBLh D, DLLTERL

LMFF7NTZ (3.0a/dl)
BB 12245 + %8B 12245)
BE 12205
xFPB1225]

2AESOE L (11.0g/d)
B 12240+ % B 1 2245)
BmE12200
>t BB 12245

IRFEIGE (D)
S5 12200 + x4 BE 12215
BB 312245
>t B8 12245

4 IR HERA M FE (100mmHg)
SBE 12205+ BB 12245
B|E12245
T ER 12245

5 RHA N E (70mmHg)
B 12209 + B 12245
HBaE12208]
* BB 122451

7 S vk iof ]
EH 12200 4 B 122451
BE122(0
*ER 122{5]

THAIZE L
BE 12245 4 A BB 12245
EE 1225
s B8 12245

8Ly I—
12205 + BB 1 225]
BE 12245
xtBB 12248

9.##%5F (ONSET)
BB 12205 + B 12245
12248
*TEE12217)

3hTa)— LD HEMEE

*HEEHY
P
P< 0.075
P< 0006 *
P< 0920

PiiE
P< 0.326
P< 0.124
P< 0415

Pl
P< 0.001
P< 0.001
P< 0.001

P{&
P< 0.107
P< 0515
P< 0054 *

Pl
P< 0.138
P< 0.136
P < 0.340

P&
P< 0.001
P< 0.001
P< 0.001

P1iE
P< 0001 *
P< 0.001
P< 0001 *

P&
P< 0.001
P< 0.001
P< 0001 *

Pl
P < 0.001
P< 0,004
P< 0.001

*  *  *
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VI.BA i
OBRE-PFE. QOBE. QUL 3hTI)-—-LOHEBERK

*HREHY

1.0 &7 ILTZ (3.0g/dD) Pl

B|E 1220+ xHEE 12248 P< 0.136

BE122{8 P< 0.218

i 8812245 P< 0.653
2AES AL (11.0g/d)) P{E

B 122450+ B8 12245 P< 0.375

12205 P< 0028 *

*F8E 12205 P< 0819
IFJEIGEEED) P&

BE 12200+ wER 12241 P< 0001 %

BE1220 P< 0.227

*HER 12245 P< 0001 *
4R FERAM E (100mmHg) Pfi

BE 12200 + B8 12245 P< 0.305

BE 12245 P< 0.195

» B8 12247 P< 0.121
5.3E3R#A M (70mmHg) Piia

B35 12200 + B 1 22451 P< 0.162

BE1220) P< 0.115

xR 12245 P< 0.751
BARGIE i P&

BE 12200+ 3B 12245 P< 0001 %

BE 12205 P< 0.001

B 1228 P< 0.001
7.EARIZ L PiE

1225 + R EE 12245 P< 0.001

BH 1225 P< 0017

>3 88122451 P< 0.001
89— P&

BB 12205 + X 12245 P< 0014 *

12200 P< 0.104

>t 88 12240 P< 01
9.8 #1 (ONSET) PiE

BB 1220+ % B 12248 P< 0036 *

B 1224 P< 0.308

xtRE 122181 P< 0.140
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. EXERLREE FE-NMELOEE /ORK
M. 8. BREFTENE 12 IVFEE: y—212200), avbO—)1224

— 127 —

1. /e R 3R
VRMAR R EmET TS (3.02/dKH)
BE12200+ 8B 12240
WPILTEL30g/dl | MEPILTZ3.08/dl gt
& Bt ok
FHBEY BE-pEE 4! 54 58
) (%) (6.9) (93.1)| (100}
ROERH WE 9 25 34
o %) _ (28.5)! o (735 {100)
’_ REEEE L 11 54 65
(%) (16.9) (83.1) (100)
&t 24 133 157
{15.29) {84.71); (100)
P<0.034
TR B EATTOE (11.0g/dERR)
BE122(0
~AEFOE110g/dl | ~EZOE11.0g/dl st
xif Lt =
AHRRY SE-hEE 1 20 27
(%) i (25.9) (741 (100}
WMBREE mE 13 13 26
%) o {5000 (50.0) {100)]
HRUREH LU 6 23 29
(%) (20.7) {(79.3) (100}
&t 26 56 82
(31.1) (68.3) {100)
P <0052
A S S RE i (E0)
BE 12200+ 31220
#0O ZFors &
FHETEH BE-pEE 28 57 85
) _ {32.9) (87D _(100)
EHRREN BE 25 3 56
(%) (44.8) {55.4) (100)
mRREH L 17 57 74
(%) {23.0) {717.0) {100)
=11 70 145 | 215
(32.6)| (67.4) (100
P<0.033
BE122(0
&n gosst | a¥
FHERY BE-hEE 1 29 40
%) (21.5) - (725) (100}
FRIBREH BF 18 18 36
. m o {50.0) _(500) {100)
T mgAZERE HU 8 2 33
(%) (24.2) (75.8) (100)
&t 37 72 109
(33.9) (66.1), (100)
P<0.046



